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INSTRUCTIONS

Studonts Navmn,

10 Roll Numtyi s your usase on 1o of the qpuesion Piger in tho give spa

e iy Dot 0 uavnilabiE of Kesult.

4. The question papar ronvisl of 40 questions. Esch qestion camy aqisl masks 25,

4. Do not start witempting the tost paper wntid you ani uskod 16 do so.
s the Ansaeus Shoot with 1D Tanedl only:

1WA and B are any o set then W @
(AuBNAUSR) is {E) None of these
s 18 @ WA= (a.bc) and 3}, the number

sl sun 2 of relation from A into 8.
(6) None of these e (¥

(c) 48 (0) &4
the no. of element in 16 beroritate

5. If- the function is defined as

R x“> then range of f

()R ® - (1)

(€ R-(2) (©) R~ (1)
{(E) None of these

than 100 ) and x:xis prime number

less than 20 ) the n(x) + n(y) is
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[image: image2.jpg]6. The domain of '
) 2,0)
8) [0, a]
(©) =,3)
) {a,a)

(€) None of these

. The square root of i is

1
(A) 114 8) ‘;,E(l i

e
(© £=(1-) (D) 4y

(£) None of these

8. The least value of x such that

i
1-i)

is
o ®)1
©3 ©a
() None of these
9. If x+iy then +* |
)0 ®) 1
(© xy D) xey
(€) None of these
10,11 -1 s root of » ~0,3,bER,

then the value '3" and ‘b’ are
(A)(:2,2) (8) 2,-2)
© 02 ©) (2, -2)

(€) None of these

10f «, B and ! T are roots of

«p
ax’+bx+c=0 then
() a<h ®) a>b
(©)azb ©azb

(£) None of these.
12.1f the sum of squares of the roots of

37 -(m-2)y-(m +1) =0 is least then the
value of mis

()0 ®)1

© 1 ©)

(£) None of these

13. The number of numbers between 100 and
1000 such that at least one of ts digit s 7.
(A) 899
(8) 647
(€) 252
(D) 200
(E) None of these

141 2.p(5, 3) = p(n, 4), then the value of n is
@1 © 3
©s ©)7
(€) None of these

15. A polygon has 44 diagonals, the number

(E) None of these

16. The remainder when 6"
25
(20
(©2
(E) None of these

®)1
()3

17. The term independent o

I

ol
o!( .\} is
(4) 126,

(© a
(€) None of these

in expansion

18. The value of Gy + €, +C, + e 4 C, s
("1 (®)'n
© 2 (D) 2™
() None of these

19.The 15" term from the end of the

seqeunce is 3,5, 7, 9 ..., 201
(4] 158 ® 162
© w3 ) 181
(€] Nows of these
20,15, is the sum of n - term of A.P.and 5,
3, then S, 35, is equal
)4 (®) 10
©6 s

(£} None of these
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[image: image3.jpg]21. The Minimum value of 4+ 41°% xe IR is
(a0 (8) 1
©2 )4
(t) NONE OF THESE

22.The Locus of equation of points
equidistant from (-1, -1) and (3, 2) is
(A) 5x43y-9-0
(B) 5x-3y-920
(€] 5x-3y19-0
(©) 5x+3y+9=0
(€) None of these

23. The slope of linc passing through (4, 0) and.

(8,4)is
(a0 (6) 1

! 3
© 5 )5

(£) None of these

bl e e
24. The distance of the point (1, -1) from the
line 3X - 4Y -7 = 0 is

I
A ) 5

3
© 3

(£) None of these

29. The focus of hyperbola 9y? - ax

(M0, 29
(8) (0. + i3)

Vi2)

©w
010, & fi5)
(€) None of these

—_— =

). The distance between (A, 0, 1) and 1,
2Jls (27, then the value of 'A"is

"o ®1 ()5 ®) s
©2 ©3 s ©3
(€] None of these () None of these
25 ithe line 2x+ 3y +5=0and 3x -py + 11= | 31.A planc paraliel to xy-plane is
0 are parallel, then the value of p is perpendicular to
3 (&) X - xis (8) Y-
(A1 ® L (©) Z-axis (0) Origin
2 (E) None of these
e
© 32. The Negation of 'a Circle is an Ellipse' is

(£) None of these

— e
26. The radius of the circle 2 + y7 + 8x + 10y -
is

s
(c) 2
(E) None of these

87
s

©6
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(A) An Ellipse
{8) An Elipse i not a circle
(€) ACircle is not an Ellpse
(D) A Circle s an Flipse.

(€) None of these

33. The contra positive of the statement "If p
then g"is
(A) 1 then p
(8) If . then —q
(€) 1f ~q then —
(D) If ~ pthen ~ q
(E) NONE OF THESE
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[image: image4.jpg]34. The mean of first 31 natural number is
(4) 16 (8) 26
(© 32 (0) 63
(F) None of these

35. The median of 25, 20, 23, 32, 27, 40, 20,
25,30, 41, 15, 10
(3) 20
© 2
(€) None of these

()23
() 27

s e | i i B
36. The co-efficient of mean deviation from
median for the data 6, 8, 10, 13, 18, 21, 23

is
(A) a1 @) a1
(€) 041 (0) 0021

(€) Nane of these

3 15
then probability of A or B is

QT 81

13

n
© s

) 15

(E) None of these

38.Seven Person seated in a row.
probability that two particular individy
sit next to each other.

(®)

!
) 5
@t o) 4
© 5% © 3
() None of these

39.1F A and B are mutually exclusive events)
then

(8] PLA) = P(75)
(0) Pia) < p(R)

(A) PLA) < P(7)

(€) P(A) > P(7)
() None of these

0. The value of

@e
(€) log2

(8) log1
(0) log3
(€ None of these
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